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(pg-TEQ/D) (pg-TEQ/Q)
0.21 130
0.63 20
0.16 0.77
0.24 15
0.081 0.66
0.10 1.7
0.28 1.4
0.21 0.30
0.15 0.72
0.70 1.1
0.81 3.9
0.61 33
0.28 0.21
0.19 0.16
0.40 0.24
0.37 0.13
0.096 0.073
0.073 0.071
0.070 0.068
0.066 0.066
0.066 0.075
0.12 0.096
0.071 0.075
0.13 0.98
0.66 14
0.87 2.0
(pg-TEQ/D) (pg-TEQ/Q)
0.079 13
0.082 16
0.067 3.4
(pg-TEQ/) (pg-TEQ/Q)
0.10 15
0.097 13
0.068 13
0.068 29
0.080 18
0.067 1.8
0.11 9.6
0.083 17
0.073 18
0.078 0.19
0.069 7.0
0.065 8.4
0.067 0.42
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A - 88
A4 K'E  (pg-TEQ/L) JEE  (pg-TEQ/g)
FAKIEBUK D (BRI 0 .34 0.74
fE s G EJI) 0.44 0.77
AR () 0 .44 0.93
—BUE (BN 0.23 0 .69
KR By (SN 0.11 0.14
AR B (A 5 K JRh) 0 .098 0 .43
Tkt (RRJID 0.22 0.90
wET (EHEIE ESID 0.12 1.0
HRAE QR 0 .80 30
FREAE (BRI 0.12 0.69
FREAE (BRI 0.30 0 .56
AiERE (F)ID) 0.59 0.72
KiERE (F)ID 0.19 0 .82
AGERE B (1D 0 .85 1.3
BUKEE R (AR YR M) 0.081 13
CEFE (T ER) 0.12 0.049
TEEAKBUKA ()1 T ) 0.14 0.053
S |REBUE (iR i) 0.16 8.3
BET em sl rin) 028 2 1
i HE CEE)l] i) 0.076 0.074
RS CERIT i) 0.10 0.27
BiEXRiE (ET)ID 0.28 1.8
Rl |RiRiE (BB 0.17 3.9
FETJIE (ET)D 0.22 44
T FRE RE)D 0.14 0.53
BUIE (BUI 0.17 0.19
ks (A 0.16 0.073
a T BINKRE (BRI 0.53 2.2
BiTH -, BiE GRIRJID 0.33 0.22
J\IERE  GEE)I) 0.23 0 .30
(BT OKHEJID 0.17 -
Hn 1 WiE B (EHE) 0.23 -
PSS ERID 0.51 -
EH—-51E (EH)) 0.17 -
BT
A Hi 4 KE_ (pg-TEQ/L) JEE  (pg—TEQ/g)
MARNE (S EER) 0.22 44
— . [Rg GEE) 0.094 20
L P A T 2L T 011 2
JRZAEEER BT (CHEE IR 0.10 4.6
ST R 0 .040 -




(pg-TEQ/I)
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.082
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.83
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.22

.56
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.92
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.019

.41

.44
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TiE K
BAF XK FA A 8
FHAEHLS 4 (pg—TEQ/g) T HLS 4 (pg-TEQ/L)
BV 0.56 TRKXEZHE 0 .080
[if] 5 3 [ 15 e A6 X 1L T 0. 089
" i3l
=R 0 .0004 ZE BB X ZE B SF T 0.068
VST B R 0 .068 TR XA | L e T 0.076
AR 0.0016 2= 0.034
RN 0.018 Bl 0.026
RS ERANES 0 el ST 0.032
FETS 1 T HAR 0.11 AT X 0.042
AT 9 T HAR 0.011 RIERART 0. 065
(RN 0.0003 H =M 0. 066
sy [EEB DA 0.49 L ECL P /Ny 0. 069
AR 2.2 fafERT 0 .065
R FH N R 0.15 — RLHT 0. 066
(== e/NE| 0 .0002
[/ 6.7
AR 13
A 0 .0005
AR 0.0013
B AN 1.9
& A 0 .0092
AL ALET A 0.15
NE A AT 7.9
25 0.76
HIE 1.2
HZ HiHT 4.2
H T 1.1
I H ¢ 0.81
T3 0.021
A BB X 1.8
PN|ES 2.7
RHEX 2.
AT X 0.13
SR 3.
HRAE 7.
et AR 0.69
TR 0.20
A 0.35
4 Y v 5 LA 0.82
RKBAE < T VY AXAR 2.9
AFu o 0. 066
Pt T+ 2T HAR 6.5
RT3 5/ 0.73
A /A 0 .56
& o AR 0.031
LB FE AR 4.6
o)1/ SV 2.7
N PE AR —YV 5 1.1
AR 6.0




